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For Questions #1 - #7, use the figure at the right.  Write your answers neatly in the blanks.



1)
Name the vertex of 
[image: image1.wmf]3

Ð

.



2)
Name the vertex of 
[image: image2.wmf]BAG

Ð

.



3)
Name the sides of 
[image: image3.wmf]7

Ð

.



4)
Name the sides of 
[image: image4.wmf]FEG

Ð

.



5)
Write another name for 
[image: image5.wmf]ABE

Ð

.



6)
Name a point in the interior of 
[image: image6.wmf]CEG

Ð

.



7)
Name an angle with vertex B that appears to be acute.

· For Questions #8 - #10, use the figure at the right to find the value of x.

· Show all work neatly to receive credit, and write your answers in the blanks.


GIVEN:  BF bisects 
[image: image7.wmf]EBM
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.
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For Questions #11 - #15, use the figure at the right.  Write “TRUE” or “FALSE” in each blank.




GIVEN:  
[image: image11.wmf]HL

 and 
[image: image12.wmf]KT

 intersect at the midpoint of 
[image: image13.wmf]HL

.



11)

[image: image14.wmf]MH

LM

@




12)

[image: image15.wmf]MT

 bisects 
[image: image16.wmf]LH

.



13)
KM must equal MT.



14)
HM + ML = HL



15)
MT and MK are opposite rays.

· For Questions #16 - #18, draw 
[image: image17.wmf]AB

 and 
[image: image18.wmf]CD

 neatly so that the conditions are satisfied.

· Don’t forget to label your drawings!
16)

[image: image19.wmf]AB

 and 
[image: image20.wmf]CD

 intersect, but neither bisects the other.

17)

[image: image21.wmf]AB

 and 
[image: image22.wmf]CD

 bisect each other.

18)

[image: image23.wmf]AB

 bisects 
[image: image24.wmf]CD

, but 
[image: image25.wmf]CD

 does not bisect 
[image: image26.wmf]AB

.

· For Questions #19 & #20, use the figure at the right to find the value of x.

· Show all work neatly to receive credit, and write your answers in the blanks.
x =


19)
DE = 5x + 3,  EF = 33
GIVEN:  E is the midpoint of 
[image: image27.wmf]DF

.




x =


20)
DE = 2x – 3,  FD = 5x - 24
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